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19, nclined plane  without 5"1"""‘3' See f.g . bBind the Speed 0-):
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. Consider o <olid cylindey O-F mass l"l and vadius R volling down an

cewter of wmass when the c¢ylinder reaches the bottom?
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A Lyliv\clr.‘cal wovoden vod |s |oaded with lead at one end so thal

X floats uprigh® in water, See ;.‘?.2. The length of the Submeyaed

portion 15 Rz 2.5 m. TAx vod 15 %X nto vert!cal osci llation .
@) Show that the oscillation 15 Simple harmonic? (b) Find the

pevied 0f the oscillation 2 Negleck the fact that the water has
a dawmping effeck owm the wmotion.

A vadio station oPeYa.t{wa at o {—reguehc] of 1500 KH2 has two
idewticak  vertitak dipple antennas spaced oo m. opart, Where

aye the ;V\‘tehfn't/ maXi mum amd miniwum 1w the YQ5L(('HV\¢J

rad:ation Fo:tte rn ?

In fi9.3. R= 15, <= -V PF, amd L=28mH. The generator
provides o Sinusoidal Voltage 0f amplitude €= 75V (rwm3) and
freguency )= £50 Ha . (a) Glalate the vowm.s currew amplitude?

by Find the vrw.s witages Vab, Vie, Ved. Vid - Vack ) (<) What average

power is dissipated by xach of the threz clrculX elements ?
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{ovmlj around a guo.rtet’
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of & circle of vadius a w.“tvh +o ek CI’Ia\Y}(

~ &, wWhat are the
electvic fleld amd electricad potentiak at poink p. Sae fig. 4.

6. An idedd diatowmic gas (V= 1.¢0) is caused 1o pass thrau?h the
1b 9. eycle Shown on the p-v d.’a;jravv\ n )T.'?. §., whene Vi = 3V, Deter-
wing , in terwms of Py, T amdd R 2 (@) Pa, Py amod T3 7 (b) W oL
oU, amcd 85 pav wmole , for all three proce sses ]
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T The currend 1w the wive AB of fig. b, S upward amd increasing  stead-
{é% .'17 at o vate ‘A’:/d# .

(@) At an instant whaw the current |3 A , what a¥e the Mc\gn,"tqde
and direction of the fleld -é\ at a distank ¥ from the wire ?

by wWhat /s the flux o E through the narrow shaded Strip ?
) What 15 the total flux ‘throujh the loop?

() What 5 the jviduced emf in the loop?
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